ITI Sheet Metal Worker 1st Year Module 7 Welding

(1). What is the purpose of root gap in welding? | AT H e TP 3%5231 [

o7

(A) To control the Arc | Wﬁﬁ'ﬂﬁﬁﬁ%ﬁﬂ

(B) To increase surface tension | Y¥ d-Id Ca ®I<{>I:| %ﬁ«m

(C) To obtain complete penetration | EUfanTWW$ﬁTQ
(D) To align the work in position | Wﬁﬂ%@ﬁﬁ%%ﬂ

Correct Answer : C

(2). What is the name of technique marked as ‘X’? | 'X’ %Wﬁﬁﬂ%ﬁw
&1 TH T g2

(A) Root penetration | \_SlTS'UaQT
(B) Rootrun | ¥C X

(C) Key hole | EICIEIET

(D) Excess fusion | 3R T

Correct Answer : C

(3). Which is the effect of normal arc length? | HTHII &néaaﬁmumaﬁ:rm

87



(A) Correct fusion and penetration | ﬂﬁw R TS
(B) More spatters | 31feep Wex
(C) Unstable arc | IR 3P

(D) Poor control of molten metal | ﬁﬂﬂTE_sg U@WWW

Correct Answer : A

(4). What is the method of welding? | éﬁsﬂﬁﬁfﬁwév

— g
B ﬁ et
— H-..\___‘__.-: - —
—= = ==

(A) Arcwelding | 3MTeh aAfcgT

(B) Pressure welding | URR dfcET
(C) Fusion welding | g dfes
(D) Thermit welding | yfHfe afcgm

Correct Answer : B

(5). Spot welding comes under which type of welding method? | Wic dfeeT g

TR B! AfceTT T o Sfaid Sl 52
(A) Fusion welding | WW

(B) Non-fusion welding | '-I\IJ"I—l:I'H\\.YI"I ISRl
(C) Resistance welding | PIGREEIRS]
(D) Pressure welding | URR afesT

Correct Answer : C



(6). What is the degree of hotness or coldness of a body measured on a definite

scale called? | Wﬁfﬁﬁﬁﬂﬁﬁﬂﬁﬁﬁﬁ?ﬁﬁﬁ%ﬁ
R HEA &

(A) Joule | cT

(B) Watt | dIC

(C) Heat | S

(D) Temperature | dIUHIA

Correct Answer : D

(7). What is the property that oppose the flow of electric current in a conductor?

| T dheacx H f[aggd URT & UdTg H1 faRY H=- arall 01 &1 82

(A) Insulator | $dlcih
(B) Regulator |§11éa

(C) Electromotive force | f&qu digd ddi
(D) Resistance | IGEIE]

Correct Answer : D



(8). Which type of weld joint indicates the symbol? | PO UPR FHTdE \:1\|5

Uciteh g 1 ST Rl 82

(A) Single V butt weld | Qama?aﬁé@f
(B) Double V butt weld | S99 dI 9¢ IS
(C) Fillet weld | fiheic dee

(D) Single bevel butt weld | RITTd 9dd 9 des

Correct Answer : C



(9). Which type of weld joint indicates the symbol? | PO UPR FHTdE \:1\|5

Uciteh g 1 ST Rl 82

(A) Backing Run | CICRRG

(B) Spot welding | Wic dfcET

(C) Single U butt weld | Tdhdl g &¢ dee
(D) Seam weld | M dE

Correct Answer : A

(10). Which type of weld joint indicates the symbol? | fPI IR B dcE \)1-\I$

Uciteh g 1 ST Rl 82

—

oy g

(A) Spot weld | Wic dts




(B) Plug weld | @ dee
(C) Seam weld | HHdE
(D) Backing weld | IR

Correct Answer : C

(11). What is the recommended tungsten electrode tip for DCEN used for welding
stainless steel in GTAW process? | GTAW UfchdT H e W Id &1 afceT] %%‘I'Q
DCEN & foTY SRR e gaaels feu i 4l g2

(A) 45° bevel edged | 45° S99 YR
(B) 60° conical point | 60 °Wﬁ§
(C) 90° conical pointed | 90° Wﬁ@

(D) Ball pointed | GI\IJc'ia?ﬁ"I\IOb

Correct Answer : B

(12). What is termed as motion of electrons? | sﬁagﬁﬁwﬁrﬁwww
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(A) Voltage | dicesl
(B) Current | dC

(C) Ampere | THITR
(D) Potential | fdyd

Correct Answer : B

(13). Which is an effect of long Arc? | SE WWUW@?W%?
(A) More fusion and penetration | 31feIep T 3R Yo



(B) Less spatter | FHBIC
(C) Correct metal deposition | ﬂﬁ‘éﬂﬂ$?ﬂ

(D) Poor fusion and penetration | TS YA AR UG

Correct Answer : D

(14). Which is the welding process welding job remains out of the welding circuit?

| I It AfcET Ufshar A afceT i afcg™ fche & SR /a1 82
(A) Atomic hydrogen Arc welding | UXHIU] 6I$§\I\ﬂ"| 3MTeh afcET
(B) Carbon Arc welding | BT 3T AfeFT

(C) Resistance welding | PIGREEIRS]

(D) TIG welding | TIG afcg™

Correct Answer : A

(15). What is the recommended tungsten electrode tip used for GTAW in AC

polarity? | AC TTARE H GTAW & oY RIRId dTRe gaaels feu i dl g2
(A) Bevel tip | 9@d fed

(B) Conical tip | TTHR feT

(C) Rounded tip | @ feT

(D) Straight tip | et Tk

Correct Answer : C

(16). Which method of cutting is used to cut rubber? | R&R CAGAGE! %ﬁ"mﬁm

f3fer 1 U fopar ST 82
(A) Plasma cutting | ATSHT Bl



(B) Gas cutting | g BT
(C) Laser beam cutting | ToIR STH I
(D) Water jet cutting | dIC¥ SIC BT

Correct Answer : D

(17). What is the electric welding method? | Iradﬁd ISRl %firw%?

)

|
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|
m-iw.-
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(A) Arc welding | 3MTeh aAfcgT
(B) Resistance welding | PIGREEIRS]

NN

(C) Carbon Arc welding | HTe 31 AT

(D) TIG welding | TIG AfcaT

Correct Answer : B

(18). What is the term marked as ‘X’? | X'%Wﬁﬁﬂ%ﬁWW%?




(A) Kerf | P

(8) Drag | g1

(C) Bead | STgH
(D) Gouging | T

Correct Answer : A

(19). What is the temperature in degree Celsius if the temperature -40F° in

Fahrenheit scale? | U%W@aﬂﬁﬁw -40F° %?ﬁ%"ﬁﬁmﬁ
dTIHT T BRTI?

(A) -12°C
(B) 22°C
(C) 32°C
(D) -40°C

Correct Answer : D



(20). What is the part marked as ‘X’? | 'X’ %Wﬁﬁl’%ﬁ 'J-I'I"TERJT%?

(A) Nozzle | =oldl

(B) Trigger | /&R

(C) Torchhandle | I gsd

(D) ON-OFF switch | TTq] / §¢ Rad

Correct Answer : B



(21). What is the basic welding joint? | %%W@EW%?

(A) Butt joint | §C Sl
(B) Lap joint | SIS
(C) Corner joint | PR SIS
(D) Edge joint | UT SIS

Correct Answer : A

(22). Which type of weld joint indicates the symbol? | PO THR B dcE \)1-\I5

Uditer forg &l 3Ad s 82

(A) Single U butt weld | anfa?s'
(B) Single J butt weld | A gecde



(C) Plug weld | @ deS
(D) Fillet weld | fthcic dcg

Correct Answer : B

(23). Which type of welding technique is used to make welded joints in all
positions for pipes of lesser thickness and different sizes? | th?l_sc Gﬁqﬁﬁ-ﬁ[
A9 & Ursy A g+ fRUfG A fET Siie 991 & forw &1 4t afcd T de-ites waim
ARG

(A) Leftward welding | T 1 AWl

(B) Right ward welding | IS¢ P! db afeaT
(C) All position rightward welding | g fRufa | (Isrc P IRP aAfcET
(D) All position left ward welding | I+ fUfd H dde &I R afes T

Correct Answer : A

(24). What is the conversion formula between centigrade scale and Fahrenheit

scale? | YIS Whdl 3R BRAGIRE Wb d b §1d FTUIARUT I3 341 87
(A) C=(F+32)5/9

(B) C=(F-32)5/9
(C) C=(32-F)5/9
(D) C=(F+32)9/5

Correct Answer : B

(25). What is the material used for making supporting plate of welding rectifier

cell? | AT IFEHRR A B T e §91 & folw IuTNT B o arelt
I T 82



(A) Steel or Aluminium | &Id IT TegHi=ad
(B) Copper | TIST

(c) Tin | fe

(D) Zinc | ST&

Correct Answer : A

(26). What is the part marked as ‘X’? | ’X’ %Wﬁﬁl’%ﬁ 'J-I'I"T_QTIT%?

(A) Electrode wire | 3@3@3?‘”?
(B) Shielding gas | ﬁ?&‘ﬂwaﬂ?ﬁﬁﬂ
(C) Combination cable | TG Had

(D) Hallow flexible current carrying electrode lead | ¢RI Bl & ST Tl Raa
5 ~ E

Correct Answer : D

(27). Which method of cutting is used with a coaxial gas jet to blow away the

molten metal? | STc- &1 fobd i T ot U YT 1 IS & o1t T JH1ET
T S BT SUIT foh T el 82

(A) Gas cutting | g BT
(B) Water jet cutting | arex dicd



(C) Laser beam cutting | ToIR STH I
(D) Plasma Arc cutting | TTSHT 3fTch e

Correct Answer : C

(28). What is the current that changes its direction and magnitude number of

times per seconds? | a‘s'ﬁ?ﬁ’r W%Gﬁqﬁmﬁ 3q-t fa=m 3R gfaTor
= Seadl g2

(A) Series circuit | SRSl Gfbe
(B) Alternating current | UdTdal YRT
(C) Direct current | foy ey

(D) Parallel circuit | JHEIIR qu%c

Correct Answer : B

(29). What is the angle marked as ‘X’ in TIG welding? | TIG JfETH v HFETH

fafed ol fb 82

‘\\
V/////////////%

(A) 45°-50°

(B) 50°-60°
(C) 60°-75°
(D) 75°-80°

Correct Answer : C



(30). Which is the process of rapid cooling of metal from a high temperature for

the purpose of hardening? | WW%B@W@WW@ ﬂ]ﬁ%?ﬁﬁﬁ
ST HRA DI UlchuT KT 52

(A) Drilling | fSfefTT

(B) Pickling | fOfdeT

(C) Quenching | d=ITHT

(D) Soaking | R

Correct Answer : C

(31). What is the pitch of tack weld for M.S. Plates of 3 mm thickness in butt

weld? | M.S. @13 mm nﬁ@m%aﬁé@%m%é@ﬁfﬁaw%

(A) 150 mm
(B) 25 mm
(C) 250 mm
(D) 15 mm

Correct Answer : A

(32). What is the minimum percentage of chromium in stainless steel? | LAy

Wt o HIftrgd &1 g=ay ufazd fearg?
(A) 0.065

(B) 0.08

(C) 0.1

(D) 0.12

Correct Answer : D



(33). What is the term for the straight distance between the Electrodes tip and job

surface at arc formation? | &némaﬁmsﬁaa—s%q 3R PR B! Tag &b
g Tt g8 o forg T Wregraet 52

(A) Arc blow | &I 3T

(B) Arcing force | 3Tfdh7T oI
(C) Arclength | 31T &1 THITS
(D) Arcleg | 3T T

Correct Answer : C

(34). What is the name of first run deposited in the root of a joint in welding? |
I H oS Bt o7 | STHT 81 9Tl UUH I b1 T 1H 82

(A) Rootrun | >C X

(B) Second run | gHRIXT
(C) Third run | ARRTIA
(D) Sealing run | CINAES]

Correct Answer : A

(35). Which is the characteristic of plasma arc cutting? | WilHI 3Th BT DY

ORIV o g2

(A) Cuts are not so good quality | HCH Sa1! 3] BIfcic] o gl gid
(B) Cutting speed very slow | BT &1 Tfd 9gd 4 §

(C) Non-metals can’t be cut | UTI3HT BT T&1 BTl ol Tl §

(D) High speed piercing is archived | BTS Tite fUaRiT 3ipigos §




Correct Answer : D

(36). Which cutting method produces the least Kerfs Width? | OP?I"I it Hod fafd

HH Y HH P ASls Bl IATGT B 6?
(A) Plasma Arc cutting | TATSHT 3T BT

(B) Laser beam cutting | CToR I BHicT]

(C) Electric Arc cutting | $€1fcl\§d9 qTg PHicT]

(D) Gas cutting | %W

Correct Answer : B

(37). What is the defect caused by air mixed with gas in CO, welding? | CO, afET

T 19 & Ty THf¥d g1 HRUT§H 91T GV T 82
(A) Overlap | 3R @Y
(B) Blow hole | ¥¢ BIg-T

(C) Incomplete penetration | 31’?1[\9[%
(D) Excess wide bead | &mzﬁeﬁzﬂw

Correct Answer : B

(38). What is the gas mixture used for copper, nickel and alloys of heavier gauge
thickness in GMAW spray transfer? | GMAW 3| gi{-ILh{ H @TH{, BEAY GﬁT HRY

I HieTs & Ay argaf & fore gxaTa fosar S ot 9 fsor - A g
(A) Argon | M

(B) Helium | ®iferad

(C) Helium - Argon | BIfcraH - 3




(D) Argon - Oxygen | 3 - 3T

Correct Answer : C

(39). What is the advantage of a welded joint? | Udh IS UI\I5 DI K WwYcl %?
(A) Easily separated by heating | ST O 7TH b 3T B fean

(B) Can’t be done quickly | GEQT:I_GQFWGITW

(C) Occupies more space | Slcl SIilg ] %

(D) A permanent joint | W@I’I’iﬂ\_rh_s'

Correct Answer : D

(40). What is the purpose of inlet end of heater connected to gas cylinder in CO,

welding? | CO, AfET H T RIciex T IS glex & e RR BT I R 82
(A) Enable flow to regulator | Wﬁ eﬁvmgﬁ@ﬁmﬁ

(B) Avoid ice forming of CO2 | CO2 P I g1 I T
(C) Connect to flow meter | Tall HieR ﬁﬁﬂfﬁ%ﬁ‘m
(D) Improve flow of gas | ﬁ?%mﬁﬁmw

Correct Answer : B

(41). Which cutting method is used to cut brittle material? | lﬂﬂmﬁm
& fore fog e @ faftr &1 IuanT fosan Srar 82

(A) Plasma Arc cutting | WITSH] 3MTeh HIeT
(B) Laser beam cutting | ToIR S1H HicdT

(C) Electric Arc cutting | Salfacd AU HicT

(D) Gas cutting | g BT




Correct Answer : B

(42). What is the freezing point of water in Fahrenheit scale? | Th IQHEIQE ﬁm%rfr

gt &1 feHie fhaT glar 82
(A) O°F

(B) 180°F

(C) 100°F

(D) 32°F

Correct Answer : D

(43). What is the normal preheating temperature for Aluminium Welding by TIG

process? | TIG UihaT gRT T{HTIH dfed 1 o feld HTHT=A Wi argar o
87

(A) 100° - 120°C
(B) 160°-180°C
(C) 180°-205°C
(D) 200° - 220°C

Correct Answer : C

(44). What is the cause for excessive wide bead while welding in CO, process? |

o, Ufthar ¥ AfcET ord THT A el d1gy BT HRUI T g2
(A) in adequate gas flow | &fq'qfﬂﬁﬂm

(B) welding current too low | dfET e dgd hH %

(C) too small dia of nozzle | =STd] BT dgd BICI AT
(D) welding speed too low | Wﬁ‘ﬂﬁ@@ﬁﬂ%



Correct Answer : D

(45). Name the machine shown in the figure. | ICEER: |3@|I‘3c TI—sCII'-‘Zﬂ:[W:IW

ERIEIY
[ =i
- |
[ =8

(A) Arc welding transformer | 3MTeh afcET c;i{-llbll-lri
(B) Co, welding equipment | Co, TSI SUBRT
(C) Spot welding m/c | Wic afegT m/c

(D) TIG welding m/c | TIGa%"Tm/c

Correct Answer : C

(46). Which is the type of weld joint indicates the symbol? | PO TR FHT1dE

TS Tciiep g &Y S R 82

(A) Spot weld | Tic IS
(B) Seam weld | e dE
(C) Plug weld | @ dcS



(D) Groove weld | ‘Jﬁac_\*:'

Correct Answer : C

(47). What is the pre-heating temperature of steel Approximately for Gas Cutting?

| 19 BT & fore e &1 qd 19 T T fad=1 gidT g2
(A) 900°C
(B) 800°C
(C) 600°C
(D) 700°C

Correct Answer : A

(48). Which number has the higher finished edge quality in water jet cutting? |
S Sie wic § fhy W o 3= T[urer aTel U 82

(A) Q5]Q5
(B) Q3
(C) Q4
(D) Q1

Correct Answer : A



(49). What is the part marked as ‘X’? | 'X’ %Wﬁﬁﬂ%—d 'J-I'I"TERJT%?

(A) Arc | 3MTh
(B) Filler | ThoR
(C) Argon shield | 3T BT 3TaRTT

(D) Tungstenrod | c‘:‘l%d'-lﬁ@\'_s

Correct Answer : C

(50). Which is a disadvantage of DC Welding? | NWWWﬁ:{ﬂTg?

(A) Higher working efficiency | 3= cap] PRAcAd]

(B) Lower working efficiency | cap &HAT hH 6\I"II
(C) No noise | @TWW%

(D) Less maintenance cost | @ H xR W[d Id

Correct Answer : B



